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JIB4sz K% REH% ouT IN [GROSS| HDCP NET
B | =F  EE ERDIE 36 38 74 6.0 68.0
HEER| BIH  ALF A 45 38 83 14.4 68.6
3fir | dER ‘=X t*-2" 36 41 77 7.2 69.8
A | AR MK EOH 45 43 88 18.0 70.0
5417 AF =R A 43 50 93 22.8 70.2
641z S HBEF EOH 39 38 77 6.0 71.0
761 | 11RE @& 997" 4 45 43 88 16.8 71.2
841z e =2 A 38 38 76 4.8 71.2
of | St A= E 46 41 87 15.6 71.4
1061 | 5% Z=®F =E 34 41 75 3.6 71.4
1147 | Bl  &F Dlandlii} 42 38 80 8.4 71.6
1267 | £ &EE EOH 45 53 98 26.4 71.6
13 | X F/7T R 41 39 80 84| 71.6
1461 | K  EE t°-2" 42 43 85 13.2 71.8
15417 R [EES 997" 4 44 41 85 13.2 71.8
166 | &B B AR 36 37 73 1.2 71.8
17467 | @)l FF AR 47 49 96 24.0 72.0
1841z R (< 997" 4 38 40 78 6.0 72.0
1961 | Z& ES AR 42 42 84 12.0 72.0
20z | Flu AF 0qvl 41 37 78 6.0 72.0
2147 | BR R =E 42 36 78 6.0 72.0
22 | HHE EF IR 42 41 83 10.8 72.2
23fi7 | FR i EESd)) 42 41 83 10.8 72.2
2447 | I EESE [ 41 42 83 10.8 72.2
2541 | KEF  RF 9y7" 4 41 41 82 9.6 72.4
26 | AR E# =E 43 43 86 13.2 72.8
2741 | IR BHHE A 41 39 80 7.2 72.8
28f1 | =  ®F EXO):] 38 36 74 1.2 72.8
291 | ik B3 =E 47 44 91 18.0 73.0
30 | #&5 B L% 33 39 72 +1.2 73.2
34 | =B FF A 41 42 83 9.6 73.4
3247 | #8E  AIF 9y7" 4 51 44 95 21.6 73.4
337 | IR AEF &L 38 33 71 +2.4 73.4
3447 | HM  FT 19" 4 42 52 94 20.4 73.6
3547 | Al BASE 9y7" 4 52 58 110 36.0 74.0
36fi | FA  EHMF 9Y7" 4 37 37 74 0.0 74.0
3747 | HII BHT A 48 43 91 16.8 74.2
38fi | AR HET 997" 4 41 43 84 9.6| 74.4
39 | BIR EH#C L% 41 45 86 10.8 75.2
406 | &FRA  E=E L% 44 48 92 16.8 75.2
417 | B2 T Dliadiai 42 43 85 9.6| 754
4247 | #E BHEF 997" 4 39 40 79 3.6 75.4
431 | A BF A 45 40 85 9.6 75.4
4461 | B BASE -2 47 49 96 20.4 75.6
4561 | mF  NUF 997" 4 45 45 90 14.4 75.6




JIB4sz K% REH% ouT IN [GROSS| HDCP NET

4661 | NI BERF 997" 4 40 37 77 1.2 75.8
4761 | KR EBEF D] 40 42 82 6.0 76.0
48f1 | A FE D] 45 48 93 16.8 76.2
49111 = RF A 43 37 80 3.6 76.4
50z | =t E&RF =E 45 51 96 19.2 76.8
5117 | BHRAR %2 L& 41 49 90 13.2 76.8
52 | W2 FRE R 52 51 103 25.2 77.8
53fi | BA &k t*-2" 49 48 97 19.2 77.8
5441 | A/l = t*-2" 52 56 108 30.0 78.0
557 | #aAR A HH™ 52 48 100 20.4 79.6
56fif | ¥ EIEF EOH 53 45 98 18.0 80.0
574 | ¥H VI 997" 4 50 57 107 24.0 83.0
58fif | A IFIF =E 59 61 120 28.8 91.2
59fiL | B HWE 997" 4 61 70 131 36.0 95.0




